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61. Choose the answer which correctly completes the sentence.
If you have any … problems do let me know.
A) farer B) farther C) far D) further

62. Choose the correct answer.
I will call you … I get home from work.
A) as soon as B) so C) but D) why

63. Choose the answer which correctly completes the sentence.
... general, criminals tend to deny every charge they are accused
... .
A) With / by B) In / of
C) To / with D) On / to

64. Choose the answer which correctly completes the sentence.
The one who is wearing a blue shirt is Justin Timberlake, …?
A) isn’t it B) aren’t they
C) isn’t he D) is he

65. Choose the answer which correctly completes the sentence.
During summer months, when snow only remains on the highest
peaks, ... tourists come to St Moritz.
A) a little B) a great amount of
C) very few D) both

66. Choose the answer which correctly completes the sentence.
Many kinds of wiring are permissible under the National
Electric Code, but comparatively ... are used in home wiring.
A) little B) much C) few D) a few

67. Choose the answer which correctly completes the sentence.
They tried not to swallow … water as they swam across the
river for fear that it might be contaminated.
A) some B) no C) any D) none

68. Choose the answer which correctly completes the sentence.
If local governments ... after the environment around popular
tourist destinations, they ... their appeal.
A) weren't looking / lost
B) didn't look / have lost
C) haven't looked / are losing
D) don't look /will lose

69. Choose the correct answer.
How much … do you get every week?
A) handkerchief B) niece
C) prosperity D) pocket money

70. Choose the answer which correctly completes the sentence.
Of the many dresses she was shown, ... was actually to her taste,
but she had to choose one for the party.
A) neither B) both C) none D) some

71. Choose the correct answer.
It may … be that the information is not available.
A) as I try B) probably C) would D) well

72. Choose the answer which correctly completes the sentence.
Reducing speed limits should … fewer deaths on the roads.
A) lead to B) drop in
C) reward D) hand in

73. Choose the answer which correctly completes the sentence.
According to the fire chief, it still isn't clear where the fire ...
but he believes that it ... in the storeroom.
A) could start/has to start
B) starts/has started
C) was starting/ought to start
D) started/might have started

74. Choose the answer which correctly completes the sentence.
The official minimum wage in the Philippines ... so low
that several members of a family ... work in order to earn the
amount regarded as a minimum family income.
A) is/have to B) is/don't have to
C) are/has to D) is being/have to

75. Choose the answer which correctly completes the sentence.
Many people like to live – the very centre of big cities, but ...
prefer to live in the suburbs or even on a farm in the country.
A) another B) other one
C) others D) the others

76. Choose the answer which correctly completes the sentence.
Important football matches in England and Wales, ... the FA
Cup final, can attract TV audiences all over the world.
A) such as B) in order to
C) alike D) so that

77. Choose the answer which correctly completes the sentence.
Exercise ... more harm than good in various circumstances,
particularly if the person … himself or performs the exercises
incorrectly.
A) wouldn't do/didn't overexert
B) had been done/would have overexerted
C) would do/hadn't overexerted
D) will do/overexerts

78. Choose the answer Which correctly completes the sentence.
The great pity about the huge amounts of food ... away in
developed countries is that it could be used by the ... people
of the world.
A) throwing/having starved
B) thrown/starving
C) Having thrown/to starve
D) was thrown/starved

79. Choose the answer which correctly completes the sentence.
Since... World War II, the world output of motor vehicles has
more than tripled, and ... Japan has become the world leader.
A) -/- B) the/the C) -/the D) the/ -

80. Choose the answer which correctly completes the sentence.
They knew hardly anyone there but they … find the place to
stay.
A) manages to B) were unable
C) are able to D) were able to
81. Choose the answer which correctly completes the sentence.
The splitting of the atom was one of the greatest breakthroughs
of this century, in spite of the many people who wish it ... .
A) wouldn't discover B) were discovered
C) had never been discovered D) didn't discover

82. Choose the answer which correctly completes the sentence.
Black bears don't usually attack humans. ... they normally run
away from us.
A) On the other hand B) Consequently
C) Furthermore D) On the contrary

83. Choose the answer which correctly completes the sentence.
According to Hindus, the god Krishna discovered the pearl
when he plucked one from the ocean to adorn ... daughter
Pandia on ... wedding day.
A) himself/his B) him/hers
C) her/she D) his/her

84. Choose the answer which correctly completes the sentence.
We amused … by watching the passers-by.
A) herself B) itself
C) ourselves D) themselves
Read and choose the correct answer to questions 85 – 87.
Parents teach their children to be fearful and cautious of
specific dangers, such as fire or crossing the road. Anxiety can
be useful, because it helps protect the child from harm.
However, children can be fearful of situations or objects that
adults don't consider threatening. The sources of fear may
change as the child matures; for example, a fear of the dark or
monsters under the bed may give way to fears of burglary or
violence. Tactics that don't work include teasing the child for
being afraid, or compelling them to confront fearful situations.
Helping the child to deal with fear includes taking their feelings
seriously, encouraging them to talk about their anxieties, telling
them the facts, and giving them the opportunity to confront their
fears at their own pace and with your support.

85. It is stated in the article that ... .
A) the best way to avoid fears during childhood is to ignore
them
B) parents should not teach their children to be cautious of
specific dangers
C) every single child has a fear of burglary and violence
D) the fears of the childhood can lead to some other fears in the

86. It is clear from the passage that forcing the child to face his
fears directly ... .
A) works when the child isn't eager to talk about his fears
B) helps the child to learn the facts and realities
C) may protect him from same certain dangers
D) is not a good way to follow

87. It can be understood from the article that adults … .
A) prefer to cope with difficult situations at their own pace
B) may have same fears but may not be aware of them
C) should talk to the child about his fears in an open and honest
way
D) do not want to talk about their own fears unlike children
Read and choose the correct answer to questions 88-90.
Life processes are similar in all animals with backbones.
So physiologists can find out a lot about the human body by
studying animals such as frogs, rats and rabbits. Sometimes
research involves the death of these animals. But physiologists
take great care not to hurt the animals. The animals are usually
put to sleep during the experiments so they do not feel pain.
Many people think animals should not be used for experiments.
But it is only by physiological research that medicine has been
able to advance. Polio is a disease that attacks the nerves.
Millions of people have
been protected from polio by a fluid called a vaccine. Tissue
from monkeys is used to make the vaccine.

88. According to the passage, ... .
A) animals can die if not vaccinated by experimental team
B) by the help of experimental researches, millions of people
have been protected against rats and frogs
C) animals with bones are of no great importance in
experimental researches
D) although many people resist against animals being utilized in
researches, it is necessary

89. Experimental researches ... .
A) are the mere way that medicine can progress
B) are carried out to remove infected tissues from the animals
C) are of paramount significance for the polio infected monkeys
D) include only reptiles to discover the vaccines

90. It's clearly stated in the passage that ... .
A) millions of people have been killed by polio disease so far
B) experimental animals are first put to sleep and then used for
research
C) monkeys are usually infected with polio
D) physiologists can cure rats, rabbits and frogs as well as people


